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8 3797 wex an |BAFOH 1 |1:05.54 2
HFEF800m
=508k (GR) 2’ 04”7 98 WX WEH (KFH) FH4E
B A LGRS
1 #H 2 #
B L-v No. K% FRE % & & IE Lb-» No. K& FE ¥ &K &
1 1 13341 =m 2x|BESR 3 [2:08.53 1 8 | 3745 mm m+|FHigh 2 [2:22.34
2 | 2 | 3387 kA fE|mhkee 3 |2:13.26 2 | 9 [3736 =m xa|EmEh 3 [2:24.55
3 | 6 | 3439 g}%” wEgh 3 22141 3 | 3 | 3467 o+ wn|mEH 3 |2:25.05
4 7 | 3388 wxk mi- Bk 3 [2:21.82 4 6 | 3470 wr =@ |fBEH 3 [2:30.50
5 9 | 3346 ux sm|BAESR 2 [2:29.68 5 1 3360 m= xx|BmEHR 1 [2:33.30
6 4 | 3673 wim mm |k 2 [2:37.13 6 4 | 3682 mx smw|&chker 1 [2:47.52
i 5 | 3679 nm =+ |&cgme 2 [2:39.81 7 10 | 3951 »w moo |5l 1 |2:58.72
8 | 12 | 3463 ma xm|pI&EdH 3 [2:40.30 8 5 | 3462 xm zm|pUBR 3 [3:07.42
3 | 3351 w# #|l@EH 2 DNS 2 | 3378 #ME E|Lhxs 1 DNS
8 | 3373 wm @E [mprp 2 DNS 7 | 3598 wi z=m |[FOFEF 1 DNS
10 | 3616 == a-un|FRMAF 2 DNS 11 ] 3953 ex= —=|&@EH 1 DNS
11 [ 3686 mT B[adas DNS 12 | 3960 mim #x|Zi@Ed 1 DNS
13 13
3 #A RGEER
IE -y No. K% FilEg % &% (& g No. K% FiE =¥ itgx #
1 2 | 4050 x= wa|EFFH 1 [2:48.93 1 3341 =m 2x|{ESR 3 [2:08.53 1
] 5 | 4049 #m #=|FEPH 1 |2:53.68 2 3387 wmA& me|mEhsdb 3 [2:13.26 1
R )
3| 1 | 3061 we me|Zmen 1 |2:56.0 3 3439 Z‘;ﬁ:w wge 3 |2ona
4 9 | 3734 wm mx|FHiEh 3 |2:57.69 4 3388 wx mt|mEmsd 3 [2:21.82
5 3 | 3619 m# wx|FMEP 1 |2:59.37 5 3745 #m =t |FHigHh 2 [2:22.34 2
6 7 | 3750 s+ m=(FEiHH 2 [3:23.03 6 3736 ww xa|FHigHh 3 [2:24.55 2
4 | 3744 mx =o |Hilih 2 DNS ] 3467 +x @@ |fEHR 3 [2:26.95 2
6 | 3748 mm =z=|HF@Eh 2 DNS 8 3346 wx mm|BEH 2 [2:20.68 1
8 | 3739 m xm|Hi@EE 3 DNS
10 | 3746 wxm xs |FHifich 2 DNS
11 | 3283 am m|{ZAHh 2 DNS
12
13




1HEBEF1500m

(BE) fHxE

S508% GR) 4:.42. 39 Jtle &HH
R A LGRS
1 #H
IE__b-v No. K& FE % &k &
1 11 | 3380 # ZE|Kehxe 1 5:01.75
2 9 | 3360 mE= *xx| Q& 1 5:07.38
3 10 | 3379 ww x| Edddh 1 5:16. 83
4 4 | 3839 A pE(m@indte 1 5:21.45
5 7 | 3715 ms w=|mEdg 1 5:28.07
6 3 | 33718 #E BE|Ekhre | 5:45.05
Ji 5 113850 xgr su|m@fdh 1 5:49. 97
1 | 3756 =m wss|Hi@ch 1 DNS
2 | 3757 wo wm|FHiEH 1 DNS
6 [13760 =# =#|FH@Ed 1 DNS
8 | 3368 =w mAlmEHR 1 DNS
12 | 3918 &m nz|JllRH 1 DNS
13
REBHER
JIE No. K& FE % &% #
1 3380 # mE|Eheds 5:01.75 1
2 3360 m= xx[mEH 1 |5:07.38 1
3 3379  ww sAm|Addkd 1 5:16.83 1
4 3839 ANl EE|mfnds 5:21.45 1
5 3715 ms | 1 [5:28.07 1
6 3690 wem mam|Beedh 1 [5:42.03 2
Ji 3378 #E ®E|Ehrde ] 5:45.05 1
8 3961 wm met|F@Ep 1 [5:45.42 2
2FEF1500m
KZ&ic5k GR) 47 40 85 #AH Ex (LH®R)
B A LRB
1 #H
IE L-» No. K% FRE % &E& &
1 13 | 3351 w3 E|@ESR 2 |4:28.78 KEH
2 12 | 3592 mm = |FOFESR 2 |4:30.00 KEH
3 | 14 | 3707 zm #t|fEide 2 [4:34.75 KREH
4 11 | 3711 fezﬁm WmE 2 |4:47.63
5 10 | 3456 Zzi2 [##&s 2 [4:48.18
6 6 | 4047 x# ax|BFFEH 2 [4:49.98
Ji 5 13349 =mF wxn|BEH 2 |5:10.76
8 3 | 3751 =x mam |FHigip 2 |5:10.82
9 7 | 3373 we @F |GEeks 2 [5:16.78
10 1 3371 &m0 [Eepkd 2 [5:20.06
11 4 | 3679 wnm &+ |=Sgsd 2 [5:25.60
12 2 | 3352 = sx|BEH 2 |5:26.64
13 9 | 3827 =nm ==|midd 2 |6:51.28
8 | 4061 wn mw |BRf@EG 2 DNS
15 | 3376 m x& [meprep 2 DNS
16
REBHER
g No. K% FiE ¥ fifx #H
1 3351 ## #[BAEH 2 42878 1
2 3592 mm awm|FIEH 2 [4:30.00 T
3 3707 am we |fiE 2 [4:34.75 1
4 3711 =momxw | 2 [4:47.63 1
BiE FR
5 3456 JZ5% |#EE&t 2 44818 1
eno
6 4047 ## ax|BFEH 2 [4:49.98 1
7 3710 +m 0 [fEE 2 [5:08.71 2
8 3349 wF wxw |QEH 2 [5:10.76 1

2 %A
B Lb-v No. K% FmE % &k &
1 11 | 3690 wm smxw |Sdsker 1 |5:42.03
2 4 3961 wm @met|Z25EE 1 5:45.42
3 | 2 | 3598 mm s=|fIEHR 1 [5:45.74
4 8 113370 =2 [ EH 1 6:03.77
5 3 | 13763 wo =mz [FHEiEH 1 6:04.05
6 7 | 3951 w# mon |Fiich 1 |6:15.85
7 10 | 3755 =% s |HiEH 1 6:18.09
1 [ 3680 #m =|adxrs | DNS
5 13960 mm |Z&gEd 1 DNS
6 | 3953 &x —=%|Zi@th 1 DNS
9 | 3754 =@ =|(F@h 1 DNS
12 | 3759 == w=|ET@EHd | DNS
13 | 3758 we @+ |HiEgh 1 DNS
SN2 4
2 4
I Lb-» No. K% FRE =¥ & &
1 16 | 3710 #®m =0 | 2 [5:08.71
2 | 14 [ 3743 »m mx|EHEH 2 [5:25.50
3 11213347 sm ex|gEHD 2 [5:33.67
4 | 11 [ 3748 = =|(HF@Edk 2 [5:38.78
5 3 | 3672 &% mz=(Bcmms 2 [5:30.24
6 9 | 3618 mm =m|B4Acf 2 |5:40.09
7 8 | 3948 =T =m|ZiEh 2 [5:45.21
8 b | 3744 m=z =o |FHiEE 2 |5:49.87
9 1 3581 =% mz||&wus 2 [5:53.20
10 2 | 3582 mx mx|mEWLe 2 [6:13.55
11 7 | 3353 @ mm|BAEHR 2 |6:17.11
4 | 3750 m+ m=|HEH 2 DNS
6 | 3746 wmm xs|[Figh 2 DNS
10 | 3446 w# wm |[fEiKh 2 DNS
13 | 3745 #m =+ |HEdh 2 DNS
15 [ 3945 o wE |&@Hh 2 DNS




(RBFdL) Frk2 5%

SEBEF1500m
R&z08k CR) 47 27" 93 HHF BEBR (LKPR)
R
I b-v No. K#% FRE % &k &
1 14 | 3344 =28 uwx | QED 3 14:32.69
2 13 | 3434 #= en|fd 3 [4:42.95
3 10 | 3736 =w x=|FHmd 3 [4:58.93
4 11 | 3793 #ex ma [BBFIGR 3 |5:03.06
5 8 | 3738 m# m=|FHimd 3 [5:04.02
6 12 | 35621 =m @|2EE+® 3 |5:12.58
Ji 9 | 3470 uwi = |fEH 3 [5:18.66
8 7 | 3463 #me xm|fEch 3 [5:34.79
9 4 | 4037 tx za|EFH 3 [5:45. 14
10 5 | 3462 xm me (B 3 [5:48.26
11 6 | 3739 ® xm|HEHP 3 |5:48.83
12 3 3791 me xm |BBF+ 3 5:55.02
13 2 | 3468 +m =m|[p&Eh 3 [6:15.35
1 1 3734 wm mr|HEE 3 DNS
REBHER
JIg No. K& FIE =¥ i#H &
1 3344 =zs e |(QESR 3 |4:32.69
2 3434 == en |RERRP 3 [4:42.95
3 3736 #wm xm|[FiEh 3 |4:58.93
4 3793 &« ma |REFIH 3 |[5:03.06
5 3738 it me |EHEP 3 |5:04.02
6 3521 =m ®|zEE+ 3 [5:12.58
7 3470 wi =m(pUBEH 3 |5:18.66
8 3463 wme xu | 3 |5:34.79
HFEF3000m
2 :04% (GR) 9:26. 09 Ht EEH
R A LR
1 #H
IE Lb-» No. K% FRE % &E& &
1 11 | 3387 mA& fe|mepeepr 3 [9:44.14
2 10 | 3592 wm mm |fIER 2 [9:45.93
3 12 | 3344 =zw w2 |B{EH 3 [9:47.73
4 9 | 3707 #m #ue|midr 2 [9:51.99
5 8 | 3434 = wn |t 3 |10:17.81
BF FR
6 | 7 | 3456 ZziZ |#lH 2 [10:25.26
en
Ji 4 | 4047 #+ mx|[ZHEF 2 [10:34.48
8 2 | 3388 wx miz [mwmksm 3 [10:48.72
9 6 | 4061 =n mw |BAfEER 2 |11:01.64
10 3 3751 =% mxum |FHiE 2 11:24.52
1 3371 &m wi Kbk 2 DNF
5 | 3821 wx m=|mindep 3 DNS
=g
IE No. K& FiRE F % #H
1 3387 mA fE|mdsd 3 (94414
2 3592 wm aw |FIEH 2 [9:45.93 1
3 3344 =zw wx | QES 3 [9:47.73 1
4 3707 »m we |k 2 [9:51.99 1
5 3434 == ew |[HEERS 3 |10:17.81 1
BiE FR
6 3456 ZZii [#&E&H 2 |10:25.26 1
en
7 3711 == mxem | [His g 2 10:31.27 2
8 4047 xx mx | EFRFH 2 10:34. 48 1

SH 3 &

2 4
I Lb-» No. K% FRE =¥ & &
1 110 [ 3711 |7 FAMmmEE] 2 [10:31.27
2 3 | 3380 |# |E|mhrdb| 1 [11:00.43
3 2 | 3945 |no mE[ZiEd| 2 [11:09.51
4 9 | 3738 |#t #A[SiE| 3 |11:16.72
5 4 | 3379 |+uw wmxm|mepeep| 1 [11:16.77
6 11 | 3710 |#= =o|fEiHd| 2 |11:20.66
Ji 6 | 3673 |mm mm|agrs| 2 [11:47.67
8 8 | 3743 |wm mx|FHiEp| 2 [11:51.27
9 5 | 3347 |zm wA| B EH 2 |12:11.15
1 [ 3948 s =m|REH| 2 DNS
7 | 3349 |sF wxs| QEHR| 2 DNF
12 | 3376 pH Xty 2 DNS




HEBEF110mH

=525k GR) 15. 57 Hi ZEE G B S22

R
1 O OEE +2.4
g b=y No. K% FE % & &
1 5 13916 @ x=|JIRch 3 17.20
2 2 | 3283 #7m m|[{—AR 2 |18.44
3 4 | 3840 mm =m|m@des 1 20. 34
4 7 | 3483 =w =x|fEH 1 23. 96
1
3 | 3437 mx s W 3 DNS
6 | 3431 mux wx [4ERRP 3 DNS
8 | 3284 o Em|{ZAHt 2 DNS
B S FUERE
BEEL, EERFERERR 1700RFLF4EHONIBARK
=E0H% (GR) 2430m MzR E (M &) FR2s5%F
110mH BE +1.8 148
JIE b;‘/ No. K& FiRE = ik Ba
2
3
1 4 3448 +=m BE |{EKD 2 18.65 464
3 5 3444 mm Fe|iERRE 3 24.01 102
2 6 3472 tw mm|f[E & 3 21.55 237
1
8
Fai % 4.000kg
g | & | NO. K% | FiE £ -1- -2- -3- [sEn| B A
FEik
3 1 3448 [+m mw= [4ERRh 2 6.40 | 5.13 | 5.89 [6.40] 272
1 2 3444 |mm Fu | @RS 3 8.62 | 8.84 | 8.68 [8.84] 416
2 3 | 3472 |t =mm|[BEH 3 1.08 F 6.52 17.08] 312
iﬁ_%_ftjt High JUmp
B |&H| NO. K% | FTE =] 1.10 [ 115 [ 1.20 [1.25]1.30] 1.35 | 1.40 | 8%% | &5
1.45 [ 1.50
3 1 3448 [=m= m= |[EERE 2 — — @) O [ xxx 1.25 [ 218
1 2 | 3444 |mm e |tEEX 3 — — @) o010 O | xxx[ 1.3 | 283
2 3 | 3472 |tm mm|fEH 3 — — O O [xO[xxx 1.30 [ 250
400m
JIE l/;‘/ No. K& FiRE F ik Ba
2
3
2 4 3448 =m BE |[{EKD 2 1:03.20 311
1 5 | 3472 % mm|fEHR 3 59.35 436
3 6 3444 mm T | &R 3 1:15.27 48
1
8
HFBEEFME BafER (110mH, SP4.000kg, HJ, 400m
JIE NO. K% | FiE % [110mH ®A | SP4kg [ HJ [400m Eita| &
1 3448 |+m m= |fERE 2 18.65 +1.8 | 6.40 [1.25]1:03.20 1265
2 3472 |t =[2G 3 21.55 +1.8 [ 7.08 |1.30]59.35 1235
3 3444 |mm Fa|fERRE 3 24.01 +1.8 | 8.84 |1.35]1:15.27 849




HBEBEFEMEB Long Jump

=FCEk (GR) 6m18 EEX FH  (BFf) mMBMe 1%
R ) _ -
g &[] NO. | K& | file = | -1- | -2- | —3- |[3@®] -4-| -5- | —6- | scox 1=
BEER
1T 13687 [y =z(gdas 1 3.22 1 3.05 1 2.5713.22 3.22
+1.0]-0.4] +1.4[+1.0 +1.0
2 | 3697 [1e exm|Bmas T 2.9712.95]3.05[3.05 3.05
+0.6 | -0.2] +1.6 [+1.6 +1.6
3 | 3446 [+# mm|fERRR 2 k DNS
4 34T [ax mi|fE@RRE 2 40813 78] 3.8414.08 4.08
+0.4 |1 -1.0] +0.5 [+0. 4 +0. 4
5 [ 3450 [zr wi|f@RRR 2 3.63 | 3.8814.30[4.30 4.30
-0.2]-0.8] +2.1 [+2.1 +2. 1
6 | 3483 [=u =sx|fMEH 1 3.08 [ 3.56 | 3.54[3.56 3. 56
+0.11-0.9] +1.5(-0.9 -0.9
] T | 3840 [am zm|mints 1 4781 4.58 F 14781434 456 | 4.30 | 4. 78
-0.2|-1.2 -0.2]+1.4] -0.1 | +1.5 | -0.2
8 | 3838 [r mx|msdts 1 2.76 | 3.13[3.38(3.38 3.38
-0.1[+0.3] +1.9 [+1.9 +1.9
9 1 3830 [mm ew|mids 2 k DNS
10 T 3367 [nx sx[BESR 1 3.9313.72 F13.93 3.93
-0.1]+0.0 -0.1 -0.1
1T [ 3987 [sm »+| BEHR 1 4031 3.88 F 14.03 4.03
+0.8 | +0.0 +0. 8 +0.8
12 | 3620 [k sem|mMAE 1 3.25 F 3.50 [3.50 3.50
+0.7 +2.7 [+2.7 +2.7
4 1313469 |2 =|[F&H 3 53415741 5.1215.34]5.32] 5.13 [ 5.12 | 5.34
+0.0 | +0.8 [ +1.4 [+0.0[+1.5] +0.9 | -1.0 [ +0.0
14 1 3583 [#m wo|fIESR 3 k DNS
15 1 3364 [as mz(BESR 1 F 3.76 [ 3.7413.76 3.176
+0.5 | +0.7 |+0.5 +0.5
16 | 3483 [ox aw|fEHR 1 3.4413.70 ] 3.87 [3.81 3. 81
+0.0 [ +0.1 [ +0.4 [+0.4 +0. 4
17 1 4033 [«# me|BEFHE 3 3.8413.7113.79(3.84 3.84
-0.1[+1.8] +0.6 [-0.1 -0.1
5 18 | 3453 [mse =|fBERH 2 5.28 | 5. 01 F 15.2814.88] F 5.201 5.28
+0.7 | -0.2 +0. 7{+3. 3 +0.7 ] +0.7
19 [13463 (s mx|fBERE 1 F 4. 37 F14.31 4. 31
-0.3 -0.3 -0.3
20 | 3704 (== vwe|ml3kR 2 43214181 4.4914.49 4.49
-0.1[-0.2 ] +1.7 [+1.7 +1.7
21 1 3950 [um =s|Zm 1 3.9713.38[2.7713.97 3.97
-0.1[-1.1] +1.5[-0.1 -0.1
22 13753 [¢m =o|EiAE 3 k DNS
23 | 3435 |wy me|BEE 3 4 44 F 4. 541454 4.54
+0.2 +0.8 [+0.8 +0.8
24 1 3740 (=% =zx|Z@E 3 F 411 Fo14. 11 4. 11
+0.2 +0.2 +0.2
25 1 3942 [mm =u|Z=imE 3 44714241467 [4.67 4.6]
+0.2 | -0.3 ] +2.8 [+2.8 +2.8
26 | 3280 (s x| =5 1 3.8714.0214.7814.78 4.18
+0.1 [ +0.1 | +2.7 [+2.7 +2.7
27 1 3792 [sex wa|BBFOR 3 446 13.59] 4.68[4.68 4.68
+0.0| -0.5] +2.3 [+2.3 +2.3
28 | 3700 [sux wa|m¥keR 2 F 426 | 3.96 [4.26 4.26
+0.9 | +1.7|+0.9 +0.9
T 29 | 3614 |ms =|=MmE 3 47214571 4.6914.7214.93] 4.06 F 4.93
+0.4 | +0.1 | +1.4 [+0.4[+1.0] +1.9 +1.0
6 [ 30 [ 3702 [awt |3 3 476 4541 5.0415.0414.93] 5.08 | 5.27 | 5. 21
-0.1[+1.0 ) +#1.1 [+1.1[+0.8][ +1.4 ]| +0.2 | +0.2
3T | 3915 [sae ww| IR 3 k DNS
2 | 32 | 3477 [#m =z|FMEHR 3 6.0215.84 F16.02]5.84] 5. 77 F 6.02
+0.0 [ +0.9 +0.0]/+0. 2| +0.8 +0.0
3 33 3433 | vy zu|BEEE 3 4 9515.36 | 5.22[5.36/5.38] 5.35| 5.34 [ 5.38
-0.3[+1.0] +0.5 [+1.0[+1. 4] +1.4 | +1.7 | +1.4
T 3413611 =& ==|=MEF 3 F 6.16 | 6.20 [6.20]6. 22] 6. 31 F 6. 31 K23
+1.4 | +1.3 |+1.3|+0.8] +1.8 +1.8 =




XBEFESE High Jump

2508k (GR) Tm81 #H X (FE FR7E
R
[FRES: TR K4 | Fil@ &2 1.20 [ 1.25]11.30 [1.35]1.40[ 1.45| 1.50 | 1.55 | E2§%
1.60 | 1.63 &
1 13 | 3916 |as xa|JlIRE 3 — — — — — @) x O O 1.60
O |xxx
2 9 | 4035 |mr me|BEFRH 3 ©) ©) ©) O[O @) xQ |x xQ| 1.60
O |xxx
3 8 | 3453 |mme =|HEKH 2 ©) ©) — —[ O @) xO [ xO 1.5
X X X
4 12 | 3709 | ¢ ma|@W¥HE 2 — — — OO @) O [xxOf 1.55
X X X
5 1 11 | 3451 vz mm|#ER&H 2 O O — —1 O O O [|xxx|1.50
6 10 | 4094 |xz x»|BHEH 2 ©) ©) ©) O[O O [xxX 1.45
Ji 2 | 3350 |mm sx|BAEH 2 O ©) O [xxx 1.30
8 1 3352 |z 2| BEFR 2 O O [xxOfxxx 1.30
3 | 3431 |gus wa|tEEE 3 DNS
4 | 3435 |wm mx|tERGE 3 DNS
5 | 3613 |zm u-u|RMAF 3 DNS
6 | 3437 |2z an|HEEE 3 DNS
T | 3436 |mn =wm|HEEE 3 DNS
#BEFHEASR  SP 5.000kg
=30 Ek (GR) 12m74 JH f#f (BiE) FEm18%F
R
B || NO. |[K& |[FRE =2 | -1- | -2- | -3- |s@Eo|-4-] -5- | -6- | ic8% 1%
S
1 10 | 3342 |wm ==|mEHR 3 11.27111.10]11.12]11.27]10.80( 11.36(10. 54| 11. 36
2 8 | 4031 |t en|EFE 3 7.9918.26 | 8.2018.26/7.83| 8.27 | 8.50 | 8.50
3 5 | 3972 [mx e3|&E;kh 3 8.42 | 7.27 | 7.01|8.42|7.76| 7.72 | 8.23 | 8.42
4 7 | 3971 |x&r m=|2;Eh 3 7.13 1 7.40 | 7.5117.51|7.33| 7.47 | 7.87 | 7.81
5 6 | 3468 |+F =@|f[BEH 3 7.09 1 7.12(7.1017.1216.66| 7.23 | 7.11 | 7.23
6 1 3477 |mm uu|pEh 2 6.12 | 6.34 | 6.61 |6.61|6.36] 6.96 | 6.20 | 6.96
Ji 3 | 4041 |vm sr|ZRH 2 5.99 | 6.46 | 6.02 |6.46/5.81| 5.85 | 6.12 | 6.46
8 4 | 3977 |en mx|EEd 2 5.575.69 ] 5.2915.69(3.98] 4.31 | 4.72| 5.69
2 | 3353 |t sr|(QEDR 2 4.3114.47)5.12 5.12 5.12
9 | 3436 |mn =m|4EfKch 3 DNS




HE B F4x100mR

=EC#x (GR) 45.29 HMMAED UhU-FKR-BHE- L)  FR284F
R A LR
[1#8] [2#A]
g |v—>| B | & [28&s| K4 | F | ok g |v—>| B | & |28&s K£ | ¥ | iifx
1 1
4 2 |m#des| 1 3828 |=m xm| 2 [48.39 2
2 3825 |ngm mm| 3
3 3829 |¥5 mx| 2
4 3824 |wm mz| 3
1 3 |mEFe| 1 3792 |eex w=| 3 [46.17 1 3 |&EHh| 1 3949 [w=ee %] 2 |50.50
Y 3795 |ww mx| 3 2 3041 |&x s 3
3 3796 |&F =#| 2 3 3942 |Fm wm| 3
4 3794 |we mx| 3 4 3950 |=m mx 1
3798 |+m seixem 1 3944 |mE Ez 2
3946 [xm | 2
4 |gE#H| 1 3345 |ex m=| 2 DQ 2 4 |zEzs| 1 3522 [ww =m| 3 [50.61
2 3354 |ax @ 2 2 3524 |=m =x| 2
3 3348 |ma mx 2 3 3521 |=m ®| 3
4 3343 |wm w%| 3 4 3523 |mx m=m| 2
3369 [ Es 1
3 5 [#EEd| 1 3432 |[xw wx| 3 |46.69 3 5 [agxrs| 1 3688 |#n mam 1 51.30
2 3433 [rs #m| 3 2 3672 |27 mx| 2
3 3451 == mm| 2 3 3684 [=m =o| 1
4 3448 [+m B 2 4 3671 |wm am| 3
3454 |nwr mx| 2 3677 |50 | 2
3455 |nr x| 2 3679 |wm x| 2
2 6 [fIEH| 1 3461 [r=mxm| 3 |[46.63 4 6 [EF+H| 1 4032 |#= mn| 3 [52.08
2 | 3465 as ww| 3 24031 [+ &2 3
3 3469 [&x =| 3 3 4040 [nm wm| 2
4 3471 |#m =mx| 3 4 4046 |x=mm=| 2
3485 |ww mz 1 4037 |t & 3
3472 |tm =m| 3 4043 |xs mE| 2
5 T |mEt| 1 3703 [Emmx| 3 |[48.87 5 GELIE 3375 [mz | 2 [53.41
2 3701 |m& mx| 3 2 3377 |mx £m 1
3 3704 |z= om 2 3 3373 [wm@e| 2
4 3702 |#+t @m| 3 4 3387 |3mA [ 3
3709 |+ 5 2 3386 [+% #% 3
3713 |&% ms 2 3381 |&= &r 1
8 8
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g

il

BEHRES

K#

SCEX

FRFIH

3792

ERR BB

3795

[ITLSV S

3796

BT =#

&[eo|ro|— |

3794

s BEX

wofrofeo|eo ik
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